University of Maryland Fall 2012
ENCE353: Introduction to Structural Analysis Midterm #2

ENCE353: Introduction to Structural Analysis
Instructor: Noah C. Blum
Midterm #2

Name: S@i&A"’iQn

CSI2117: 9:00-9:50AM, November 12, 2012
Closed book, closed notes, one sheet of notes and integration tables allowed
Show all work

Problem Points Score
1 10 o
2 10 Vo
3 10 )
4 10 1o
Total 40 4o
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Problem 1 (10 Points)

Draw the influence lines for By, Dy, V¢, Mc
Hint: Use the Miiller-Breslau principle to save time
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University of Maryland
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Problem 2 (10 Points)

Use the moment-area method to determine Op & ya

2 (EI)as = 2(EDgp

For AB: E = 29,000 ksi, I = 100 in.*
Provide solutions in radians and inches

5 kips
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Problem 3 (10 Points)

Use virtual work to determine the displacement at C in the horizontal direction
E = 29,000 ksi for all members

Area of members: Aup = Ay = 2 in? Agc = 3in?
Hint: For the given 10 kip load, the axial forces are
Fap = Fac = 10 k (T) Fgc = 1082k (C)

Provide solution in inches
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Problem 4 (10 Points)
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Use virtual work to determine the rotation at B

E = 29,000 ksi, I = 100 in.*
Provide final solution in radians
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